HMANIE BT 4
D EIENAE / 5 &R

DEEMAE - FEAATEIR | THHE

EH 22120.

A

EmiEiR
REIEERRREIHEA.

ME

EN-

« TH@SH 1.4305
EEHF

o THEH 1.4305 , R

FiE
« T 1.4305

b

|
\

"

bk
IRHRETHEIEVNEHERE (EH
22120.).

EZEA

EEBR

TR BB HER,
RIEXAERBE,
EZER

« XEE AR EREN BIEME  BiE
- EERER EARSEIEME

Bm
d3
: ("]
o T WS
_I'ﬂ
o
! lock nut
uf‘ - l'-'1_ 22120.0515 — .0520 (stainless steel)
w d,
BH1H2
EEHALDER Fi&FE: 12.10.2023



HMANIE BT 4

DEIEMAE / 2 EIRe
HES-E)
R ws EEEE" & [
d d, ds k I, k I ls Fq F, max.
-0,02 = min min ~ ~
-0,05
[mm] [mm] [N] [°C] [a]
TEEH
5 M10 x 1 21 45,0 5 17 5 15 12 6,0 14 250 43 22120.0485
6 M12x 1,5 25 54,5 6 20 6 17 14 6,5 19 250 65 22120.0486
8 M16 x 1,5 31 69,0 8 26 8 23 19 11,5 28 250 132 22120.0488
10 M20 x 1,5 31 80,0 10 33 10 30 22 23,0 54 250 179 22120.0490
Vigat PiaE
[Tk
R WFR [ 1
dp
[mm] [mm] [g]
$HERI2RF 1SO 8675 (DIN 439), 7854
M10 x 1 16 52 22120.0515
M12x 1,5 18 75 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520

e F & 5

S

sy

FRFAMENERER  HREMBENER.

HE2m2

EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22120.0485
http://halder.com/tw/22120.0486
http://halder.com/tw/22120.0488
http://halder.com/tw/22120.0490
http://halder.com/tw/22120.0515
http://halder.com/tw/22120.0516
http://halder.com/tw/22120.0518
http://halder.com/tw/22120.0520

